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Question Number : 1 Question Id : 321011126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the recommended dietary allowance for calcium for Indian men?
Options:

| « 600 mg/day

> # 1mg/day

= w 0.5 mg/day

4 ® 0.25 mg/day

Question Number : 1 Question Id : 321011126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. « 600 mg/day

> w 1 mg/day

- » 0.5 mg/day

4 » 0.25 mg/day

Question Number : 2 Question Id : 321011127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about water is NOT true?
Options:

, w Itis described as a flickering cluster



o o Ithas low specific heat

- w Itis dipolar in nature

4, # Ithasa high dielectric constant

Question Number : 2 Question Id : 321011127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 321011128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 321011128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Zucker rat was bred to be a genetic model for research on:
Options:

1 % Atherosclerosis



- % Gallstones

- o Obesity

4 % Renal calculi

Question Number : 4 Question Id : 321011129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following foods is known to decrease VLDL cholesterol?

Options:
1 % Cereals

- % Food made of white flour

- % Refined carbohydrates

4 « Fish oil

Question Number : 4 Question Id : 321011129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 5 Question Id : 321011130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Obesity is defined as the accumulation of of body weight as fat.

Options:
| % 05%

] 10%



Question Number : 5 Question Id : 321011130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 321011131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sum of energy lost as heat or used by anabolic and catabolic processes that are involved in the maintenance of the
body is called energy of the body.

Options:
1 % Thermal

- w Specific

% % Minimum

4 + Basal

Question Number : 6 Question Id : 321011131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 321011132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a source of faecal energy?

Options:
, = Squamated intestinal cells

- « Desquamated intestinal cells

- w» Energy due to absorption of nufrients

4 w Energy produced after defecation

Question Number : 7 Question Id : 321011132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 321011133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Beriberi is:
Options:

, « caused by a vitamin deficiency

> % caused by a vitamin surplus



- u adegenerative disorder

4 % acardiovascular disorder

Question Number : 8 Question Id : 321011133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 321011134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to American Diabetes Association, a balanced diet has which of the following?
Options:

W 3

45-65% of total daily calories in the form of carbohydrates; 25-35% in the form of fat and 10-35% in the form of
protein.

S ®
75-85% of total daily calories in the form of carbohydrates; 15-25% in the form of fat and 5-10% in the form of protein.

2.
25-35% of total daily calories in the form of carbohydrates; 55-60% in the form of fat and 35% in the form of protein.

4 W
10-25% of total daily calories in the form of carbohydrates; 25-35% in the form of fat and 25-35% in the form of
protein.

Question Number : 9 Question Id : 321011134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 321011135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a non-essential amino acid?

Options:
1 % Leucine

> o Alanine
% % Methionine

4 % Iryptophan

Question Number : 10 Question Id : 321011135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 321011136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a digestive enzyme that is NOT found in the small intestine?

Options:



. » Irypsin

> % Chymotrypsin

- o Pepsin

4 % Elastase

Question Number : 11 Question Id : 321011136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 12 Question Id : 321011137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Leptin is a hormone that is released from fat cells in

Options:
, = Anterior pituitary

- o Adipose tissue

- u Posterior pituitary

, # Thyroid gland

Question Number : 12 Question Id : 321011137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 13 Question Id : 321011138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which of the following is the systemic name of peanut 0il?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1 Deconoic
> Dodecanoic
z Octadecanoic

4 Docosanoic

Question Number : 13 Question Id : 321011138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

Question Number : 14 Question Id : 321011139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Alpha-linolenic acid is found in

Options:
1 « Perilla seeds and {lax seeds

- % Fishoil
=z % Sunflower seeds

4 % Olive oil

Question Number : 14 Question Id : 321011139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 321011140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following does NOT play any role in alleviating Rheumatoid Arthritis when used internally?

Options:
1 % Flax seeds

- % Fishoil
3 « Rice bran oil

4 = Omega 3 fatty acid

Question Number : 15 Question Id : 321011140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 321011141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How many calories are supplied by pure alcohol?
Options:

, % 100 calories per gram

5 u 40 calories per gram

o o | calories per gram

4 % 250 calories per gram

Question Number : 16 Question Id : 321011141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 17 Question Id : 321011142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Anabolic steroids are banned for use by athletes due to the risk of:
Options:
1 % brain cancer

> « cardiovascular disease
- % cataract

4 % muscular dystrophy

Question Number : 17 Question Id : 321011142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 321011143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following symptoms presents itself in severe cases of zinc deficiency?

Options:
1 % Stomach ulcer

> w Lethargy

= « Diarrthea

4 % Anaemia

Question Number : 18 Question Id : 321011143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 19 Question Id : 321011144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following toxicants is present in Aspergillus flavus? This toxicant causes cancer and liver cirrhosis.

Options:
, % Cyanide

> « Aflatoxin

5 % Sanguinary

4 % Solanine

Question Number : 19 Question Id : 321011144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 321011145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
neutralise the damaging effects of free radicals.

Options:



, » Immunoglobulins

- % Carbonates

= « Antioxidants

i

4 % Peroxides

Question Number : 20 Question Id : 321011145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 21 Question Id : 321011146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following dietary supplements is used for the treatment of Diabetes?

Options:
1 % Watermelon

- % Raisins
= « DBitter melon

4 % Potato

Question Number : 21 Question Id : 321011146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 22 Question Id : 321011147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following should NOT be consumed by a person with iodine deficient goiter?

Options:
1 % Seaweeds

o % Shrimp

z % Shell fish

4 + Egg whites

Question Number : 22 Question Id : 321011147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 23 Question Id : 321011148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following should be consumed by people with Gout?

Options:



, w» Food that is rich in purine

- % Food which increases uric acid level in the body

-  Food which has low levels of purine or no purine

, % Food which increases weight

Question Number : 23 Question Id : 321011148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 321011149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
People with peptic ulcers should avoid:

Options:
1 « Cofifee and alcohol

- % Greentea

- % Spinach and carrots

4 % Broccoli

Question Number : 24 Question Id : 321011149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 321011150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ascorbic acid helps in the absorption of which of the following minerals?

Options:
1« Iron

- % Calcium
z % Florien

4 % Sodium

Question Number : 25 Question Id : 321011150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 26 Question Id : 321011151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deficiency of Folic acid and vitamin B-12 causes:

Options:



, » Xerophthalmia
Scurvy

Rickets

.W
®

Megaloblastic anaemia

Question Number : 26 Question Id : 321011151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 321011152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Indian Council of Medical Research (ICMR). the daily allowance of vitamin C for adults is:
Options:

, 40 mg/day

5 w 10mg/day

- # 10mg/day

4 w 120 mg/day

Question Number : 27 Question Id : 321011152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



, « 40 mg/day
, » 70 mg/day

- » 10 mg/day

4 » 120 mg/day

Question Number : 28 Question Id : 321011153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Keratomalacia is caused by vitamin deficiency.

Options:
1 ® K

Question Number : 28 Question Id : 321011153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 29 Question Id : 321011154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 321011154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cellulose is a type of:

Options:
1 % seawater

> % mineral
= % Vitamin

4 « Tibre

Question Number : 30 Question Id : 321011155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a non-nutritive sweetening agent?
Options:

1 % Vanillin

- % Yeast

5 o Aspartame

4 % Glutamate

Question Number : 30 Question Id : 321011155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 31 Question Id : 321011156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Neurolathyrism is caused by the intake of which of the following toxicants?
Options:

i Lathyrus sativus

> u Claviceps purpurea

= % Penicillium

4 % Thioglycoside

Question Number : 31 Question Id : 321011156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 32 Question Id : 321011157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most common type of human gallstones are gallstones. They often appears yellow in color.

Options:
, w Carbohydrate

- « Cholesterol



= % Ketone

4 = Glycerol

Question Number : 32 Question Id : 321011157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 33 Question Id : 321011158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The scientific name of vitamin B3 is:
Options:

1 % Biotin

- % Riboflavin
3 « Niacin

Pyridoxine

Question Number : 33 Question Id : 321011158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 321011159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 321011159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Improper prothrombin svnthesis due to the deficiency of vitamin K causes:
Options:

, + Impaired blood clotting

> u Haemolysis
%z % Beriberi

4 % Thalassemia

Question Number : 35 Question Id : 321011160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hyaluronic acid belongs to which of the following forms of carbohydrates?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1 Monosaccharides



- Polysaccharides

= Disaccharides

4 Mucosaccharides

Question Number : 35 Question Id : 321011160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

Question Number : 36 Question Id : 321011161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How many Amino acids are present in angiotensin I7?
Options:

1« 10
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Question Number : 36 Question Id : 321011161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 37 Question Id : 321011162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sanger’s Reaction is useful in the detection of which of the following?

Options:
, = Carboxylic group

> % Minute quantities of amino acids

-  Sequence of amino acids

4 % Quantity of amino acid nitrogen

Question Number : 37 Question Id : 321011162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 38 Question Id : 321011163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deficiency of which of the following phospholipids causes respiratory distress syndrome in infants?

Options:

, = Cephalic



> « Lecithin
%z % Choline

, % Sphingomyelins

Question Number : 38 Question Id : 321011163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 39 Question Id : 321011164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The molecular formula of vitamin A is:
Options:

; « Caohspo

> % Cazhyzoh

- = Crihijo

4 % Cazhzpoh

Question Number : 39 Question Id : 321011164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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> % Ca2 ha; oh
= % Co1 h3y 0

4 % Cz3 hs oh

Question Number : 40 Question Id : 321011165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Copper is found in which form in the brain?
Options:

, w Erythrocuprin

- u Ceruloplasmin

-  Cerebrocuprin

, % Cytochrome oxidase

Question Number : 40 Question Id : 321011165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 41 Question Id : 321011166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The concentration of acid phosphatase (AP) enzyme is rapidly raised in which of the below?
Options:

1 «* Prostate cancer



5 % Mumps

5 % Vviral hepatitis

4 % Alcoholic cirrhosis

Question Number : 41 Question Id : 321011166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 42 Question Id : 321011167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the process of glycolysis, glucose-6 phosphate is converted into fructose-6 phosphate with the help of the
ENZyIme.

Options:
1 % Enolase

- % Aldolase
= % Hexokinase

4 + Phosphoglucose isomerase

Question Number : 42 Question Id : 321011167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 43 Question Id : 321011168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the result of aerobic oxidation of 1 glucose molecule?

Options:
, » Co+hoh+ 38atp + heat

o o €02+ h2o + 38atp + heat

5  Co2Z+h2o+ 44atp + heat

, = Cooh~hlZo + 36atp + heat

Question Number : 43 Question Id : 321011168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
, » Co + hoh + 38atp + a9

5  C02 + h2o + 38atp + a9

5 w Co2 + hZo + 44atp + a9

4, » Cooh + h2o + 36atp + @™

Question Number : 44 Question Id : 321011169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 44 Question Id : 321011169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the shape of normal immunoglobulins?
Options:

, % Sshape

- u [ shape

o o Y shape

4 = Lshape

Question Number : 45 Question Id : 321011170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

is a constituent element of immunoglobulins.
Options:
1 % Steroids

- « Glycoproteins

= % Amino acids

4 w Fatty acid

Question Number : 45 Question Id : 321011170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 46 Question Id : 321011171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Low level of sodium in blood produces:

Options:
1 % thirst

- « weakness

- w muscle twitching

4 #® high blood pressure

Question Number : 46 Question Id : 321011171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 47 Question Id : 321011172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 47 Question Id : 321011172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
66 + (13.7 X weight in kg) — (5 X height in cms) - (6.8 X age in years) is a formula used for which of the below?

Options:
1 #% Calories intake/hour

- » DBody mass index

- « Calories intake/day

4 % Basal metabolic rate

Question Number : 48 Question Id : 321011173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arginine is used as a therapeutic agent because it:

Options:
, w depresses the release of hormones

-  Teduces nitrogen loss in surgical patients

- u destroys lymphocyte function in healthy subjects

4 % increases histamine release

Question Number : 48 Question Id : 321011173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 49 Question Id : 321011174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eating soybean may:

Options:

1 % increase LDL

> « decrease cholesterol
= % cause heart diseases

4 % cause liver dysfunction

Question Number : 49 Question Id : 321011174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 50 Question Id : 321011175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

obesity is a case in obese individuals wherein fat is distributed in the shoulders and the abdominal area.
Options:
1 % Central



- « Android
%z % Gluten

, w Peripheral

Question Number : 50 Question Id : 321011175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 51 Question Id : 321011176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Diarrhoea worsens after consuming which of the below?

Options:
, = Small frequent meals

- % Sources of soluble fibre

-  Food with lots of sugar e.g. candy or chocolate milk

, w Electrolyte replacement liquid

Question Number : 51 Question Id : 321011176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 52 Question Id : 321011177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 52 Question Id : 321011177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Nutritional value of honey per 100 gms is:

Options:
1 % 105 calories

- % 1000 calories
= % 600 calories

4 « 304 calories

Question Number : 53 Question Id : 321011178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The only wholegrain with nine essential amino acids is:
Options:

1 % Brownrice



o o Quinoa

- % Whole-barley

4 ® QOats

Question Number : 53 Question Id : 321011178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Al HcATIRTF FHA IF AT VAT W HAS g

Options:
| x U FEA

o TFETIT

gu T

Question Number : 54 Question Id : 321011179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 14.00 - 14.99

., % 15.00 - 15.49

= « 16.00 - 16.99

, % 17.00 - 18.49

Question Number : 54 Question Id : 321011179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

As per ‘The International Classification of Adults’, a BMI (Body Mass Index) of is categorised as “moderate
thinness™.

Options:

1 % 14.00-—1499



> % 15.00—15.49
s « 16.00—16.99

4 % 17.00—18.49

Question Number : 55 Question Id : 321011180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What should be the limit of dietary cholesterol in individuals with LDL (Low-density Lipids) cholesterol of more than
100 mg/d1?
Options:
s /i F
| + 200 mg/day

300 mg/day
400 mg/day

4 w 500 mg/day

Question Number : 55 Question Id : 321011180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

100 fEeiEmA/ETe & 3% LDL (FH uacg I Ofts) Fewera ae safaaar § e Foeeo &
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Options:

. « 200 mg/day

> » 300 mg/day

- » 400 mg/day

4 » 900 mg/day

Question Number : 56 Question Id : 321011181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a *structuring agent’ present in jams and jellies?
Options:

.« Hydrocolloids with gelling ability



> % Oil in water
%z % Water in oil

4 % Myofibrillar proteins

Question Number : 56 Question Id : 321011181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 57 Question Id : 321011182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the approximate minimum and maximum pH value that is suitable for the growth of ‘Escherichia Coli*?

Options:
1 % Minimum 2.4 and maximum 3.0

> % Minimum 3.0 and maximum 5.0
% « Minimum 4.4 and maximum 9.0

4 % Minimum 8.4 and maximum 11.0

Question Number : 57 Question Id : 321011182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 58 Question Id : 321011183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The spoilage of ‘Pear fruit’ is predominantly attributed to which of the following organisms?

Options:
; w Cladosporium spp

> % Alternaria spp

- u Alternaria spp

4 « Erwinia spp

Question Number : 58 Question Id : 321011183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 59 Question Id : 321011184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a source of *Vibrio parahaemolyticus’?

Options:
1 « Fish and shellfish



o ® Aidr
z % Soil

4 % Sewage

Question Number : 59 Question Id : 321011184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 60 Question Id : 321011185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Microorganisms from predominantly contaminate leafy vegetables.

Options:
1 W air

- % animals
% % birds

, = Equipment’s

Question Number : 60 Question Id : 321011185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 61 Question Id : 321011186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the major end product of carbohydrate metabolism by Lactic acid bacteria of ‘Homofermentative pattern’?

Options:
1 «# Lactate

- % FEthanol
= % Carbon dioxide

4 % Acetone

Question Number : 61 Question Id : 321011186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 62 Question Id : 321011187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an example of a low pH medium (ca 4.5) that is used for the cultivation of yeasts and moulds
from canned foods?

Options:
, w» Tomato juice Agar

o o Malt extract Agar



5 » Dextrose tryptone agar

4 % Reinforced clostridia medium

Question Number : 62 Question Id : 321011187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 63 Question Id : 321011188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which of the following is NOT a treatment given to milk to prevent microbial load?

Options:
; = Keptwarm

> % Chilled immediately after milking

= % Pasteurised

s Bruising

Question Number : 63 Question Id : 321011188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 64 Question Id : 321011189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following belong to the category of ‘Non-septate moulds’?

Options:
, « Genus rhizopus

5 w Genus aspergillus
= % Genus trichothecium

4 % Genus monilia

Question Number : 64 Question Id : 321011189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 65 Question Id : 321011190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The salt preference of extremely halophilic organism has which of the following Range of Tolerance?

Options:
1 % Less than 2%

o R 310 9%

5 % 9to15%



4 « Over 20%

Question Number : 65 Question Id : 321011190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 66 Question Id : 321011191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Bacillary dysentery is caused by which of the following organisms?
Options:

, w Listeria monocytogenes

- » Campylobacter jejune

5 o Shigella

4 % Clostridium botulinum

Question Number : 66 Question Id : 321011191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 67 Question Id : 321011192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following mycotoxins is present in F. Moniliforme? It is also responsible for Oesophagal Cancer?

Options:
1 % Aflatoxin

- % Ciftrinin
% « Fumonisin

4 % Patulin

Question Number : 67 Question Id : 321011192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 68 Question Id : 321011193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Shellfish harvested from sewage polluted waters are a major cause of outbreak.

Options:
, « Hepatitis A

Poliomyelitis

2]

3 % Measles



4 w Chickenpox

Question Number : 68 Question Id : 321011193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 69 Question Id : 321011194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following equipment used for sterilisation acts by oxidation of cell constituents to carbon?

Options:
1 % Hot air oven

- % Water bath
= % Arnold’s sterilizer

4 « Incinerator

Question Number : 69 Question Id : 321011194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 70 Question Id : 321011195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What should be the frequency of cleaning absorbent working surfaces (such as chopping boards)?

Options:

, = Onceaday

5 u After every use

- o lmmediately after use

4 % Between each use

Question Number : 70 Question Id : 321011195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 71 Question Id : 321011196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
All types of spores of bacteria are destroyed at which of the following temperature and time?

Options:
1 « 121°C for 5 minutes

- % 100°C for 3 minutes

=z % 80°C for 5 minutes



-

4 % 65°C for 5 minutes

Question Number : 71 Question Id : 321011196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 72 Question Id : 321011197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

4 v 30

Question Number : 72 Question Id : 321011197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Milk is treated with heat at 62.8° C for minutes to reduce the number of spoilage organisms.

Options:
1 ® 10



4..;?3':'

Question Number : 73 Question Id : 321011198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘What is the name of the process in which food travels through a tunnel against the flow of hot air and water is removed
for microbial control?

Options:

,  Mechanical drying

- w Foam drying

- w Smoking

4 w Freeze drying

Question Number : 73 Question Id : 321011198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 74 Question Id : 321011199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Which of the following is NOT among the chemical preservatives used for the control of microorganisms in soft fruits?
Options:

, w Sulphur dioxide

5 w Sodium sulphite

— Sodium metabisulphite



4 « Ethylene oxide

Question Number : 74 Question Id : 321011199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 75 Question Id : 321011200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A BMI (Bodyv Mass index) ranging between 19 and 24 falls in which of the following categories?

Options:
, w Under weight

- « Healthy weight

- u Over weight

4 w Obesity

Question Number : 75 Question Id : 321011200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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4 % Hemr

Question Number : 76 Question Id : 321011201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following disorders is characterised by recurrent attacks of arthritis; urate deposits in the joints, kidneys
and other tissues and elevated blood and uric acid levels?

Options:
1« Gout

- % Rheumatoid arthritis
- # Septic arthritis

4 % Rheumatic fever

Question Number : 76 Question Id : 321011201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 77 Question Id : 321011202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deficiency of Vitamin B-12 is responsible for which of the following types of Anaemia?

Options:
| « Megaloblastic anaemia

- u Aplastic anaemia

= % Sickle cell anaemia



, w Iron deficiency anaemia

Question Number : 77 Question Id : 321011202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 78 Question Id : 321011203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Skin ulcers. depressed immune responses and hypogonadal dwarfism signal at deficiency of which of the following?

Options:
1« Zinc

> % Cobalt
%z % Calcium

4 % Iron

Question Number : 78 Question Id : 321011203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 79 Question Id : 321011204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT amongst the trace elements believed to be essential for the sustenance of life?

Options:
| % Manganese

- % Chromium

Molybdenum

4 « Aurum

Question Number : 79 Question Id : 321011204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 80 Question Id : 321011205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Dry skin and Phrynoderma are caused by the lack of vitamin

Options:
1 = C

o o A



Question Number : 80 Question Id : 321011205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 81 Question Id : 321011206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Vitamin D is responsible for which of the following actions?
Options:

, w Concerned with blood clotting

- u Catalyzes CO; fixation

- % Acts as a cofactor in electron transport in cytochrome chain

4 « Increases intestinal absorption of caleium and phosphate

Question Number : 81 Question Id : 321011206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 82 Question Id : 321011207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The full-blown condition in children which is characterised by weakness and bowing of weight-bearing bones, dental
defects and hypocalcemia is known as:

Options:
1 # Marasmus

- % Kwashiorkor

3 « Rickefs

i

4 % Osteomalacia

Question Number : 82 Question Id : 321011207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 83 Question Id : 321011208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following in food increases the volume of stools as well as softens the consistency?

Options:
» Dietary fibre

19
- % Water

= % Proteins

, w Carbohydrates



Question Number : 83 Question Id : 321011208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 84 Question Id : 321011209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a highly suitable substrate for the growth of bacteria in the oral cavity?

Options:
1 % Amino acids
- % Saturated fats

% % Unsaturated fats

4« Sucrose

Question Number : 84 Question Id : 321011209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
7@ # sFAfar & 3fe & fow e 7 ¥ Fla-a & s3eafus 39gea genge 82

Options:
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Question Number : 85 Question Id : 321011210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Which of the following hormones is iodine an essential part of?

Options:
1 % Insulin

> o Ihyroxine

- = Oxytocin

4 % Testosterone

Question Number : 85 Question Id : 321011210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 86 Question Id : 321011211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deficiency of is associated with cancer of the colon,

Options:
1 % Vitamin E

- % Leucine
z % Theonine

4 « Fibre

Question Number : 86 Question Id : 321011211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 87 Question Id : 321011212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following tissues in the human body has/have the highest amount of calcium?

Options:
1 +« Bones and teeth

- % Blood
z % Skin

4 % Nerves

Question Number : 87 Question Id : 321011212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 88 Question Id : 321011213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is known to prevent sterility and helps in the embedding of an ovum?



Options:
1 « Vitamin E

- % Riboflavin
%z % Niacin

, w Pyridoxine

Question Number : 88 Question Id : 321011213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 89 Question Id : 321011214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What level of haemoglobin determines that a pregnant woman has ‘Mild Anaemia’?

Options:
1 % Less than 6.99

oo T7—9.09
= o 10-10.99
4 % 11-1299

Question Number : 89 Question Id : 321011214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




, x 7 - 9.99
-« 10 - 10.99
L 11-12.99

Question Number : 90 Question Id : 321011215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For lactating women, from 0 to 6 months what is the daily additional requirement (in addition to daily requirement) of
High Quality Protein?

Options:

4w 19 gms

Question Number : 90 Question Id : 321011215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
. % 9 TH

4w 19 TMH

Question Number : 91 Question Id : 321011216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Individuals with Rheumatoid Arthritis should AVOID a diet which includes:
Options:



, % capers
apples
red grapes

4 + low amounts of selenium

Question Number : 91 Question Id : 321011216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 92 Question Id : 321011217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an ideal plan for an individual with PCOS (Polycystic ovary syndrome)?
Options:

1 % Cut down on calories

» % Favour mono unsaturated fats

- w Loadup on vitamin B

4 « Prefer carbohydrates of high glycemic index

Question Number : 92 Question Id : 321011217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 93 Question Id : 321011218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 321011218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following should NOT be included in a diet plan for individuals with acne?

Options:
1 % Avocadoes

5 u Green leafy vegetables

= % Romaine lettuce

4 « High levels of iodine

Question Number : 94 Question Id : 321011219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following constituents in food can aggravate Asthma?

Options:



, » Magnesium
> o Benzoates
= % Rosmarinic acid

4 % Vitamin B6

Question Number : 94 Question Id : 321011219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 95 Question Id : 321011220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A diet rich in 1s NOT recommended for patients with Psoriasis.
Options:

1 % carrots

- % Spinach

5 o Omega-6

4 % Omega-3

Question Number : 95 Question Id : 321011220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 96 Question Id : 321011221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A cardiotonic diet does NOT include:
Options:

, w food containing vitamin K

> % food containing Coenzyme Q10

-  carbohydrates that have a high glycemic index

4 % Tfood with sufficient fibre

Question Number : 96 Question Id : 321011221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 321011222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following should be AVOIDED in a diet for individuals with Migraine?
Options:

, w Spinach



-  High amount of salt

= % Broccoli

4 % Vitamin B12

Question Number : 97 Question Id : 321011222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 98 Question Id : 321011223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At what interval should the screening of dietary staff be done for parasites and ‘Salmonella Tyvphi®?
Options:

| Every six months

5 % Every vear

5 % Once in two years

4 % Every month

Question Number : 98 Question Id : 321011223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| » SUF Og HIE H



L« 9 ad

, » 9 AE

Question Number : 99 Question Id : 321011224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is FALSE about the policy of food serving in a hospital organisation?
Options:

, » Each food plate or food packet must be labelled at the time of preparation.

3.
Food should be served after properly identifying patient through his/her name and unique identification number.

- « For patients on a special diet, a display need not be put near patients.

4, = Serving of food should be done to provide convenience.

Question Number : 99 Question Id : 321011224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 100 Question 1d : 321011225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which of the following areas of a hospital should diets such as ‘soft diet’ and ‘diabetic diet’ be prepared, as per
NABH (National Accreditation Board for Hospitals) policies?

Options:



, w Preparation area

- u Cooking area

- o Special diet area

, ® Servicing area

Question Number : 100 Question Id : 321011225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

NABH (F9ee TH3eere a5 B gliedeey) I Al & HFER, HEIdrd & Araioed A § g &9
T ‘@ive Zige’ T sEfafes oge W 3R oOr e e afge?

Options:
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eneral Aptitude
Section Id : 3210114
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 3210116
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 321011226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the mistier of Health and Family Welfare in government of India?



Options:
, w Sushma Swaraj

- % Nitin Gadkari
= « J. P. Nadda

4 % Uma Bharti

Question Number : 101 Question 1d : 321011226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 102 Question 1d : 321011227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who wrote Unhappy India?

Options:
, « LalaLajpat Rai

- % Mulk Raj Anand

= % Subhash Chandra Bose

4 #® Bal Gangadhar Tilak

Question Number : 102 Question Id : 321011227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 321011228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What’s the capital of Lakshadweep?

Options:
, » Daman and Diu

o ® Minicoy

3 « Kavaratti

4 = Puducherry

Question Number : 103 Question 1d : 321011228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 104 Question Id : 321011229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The First Opium War was fought between?
Options:



, + China and the British Empire

- % India and the British Empire

z % China and Vietnam

4 % China and France

Question Number : 104 Question Id : 321011229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 321011230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Name the state bird of Maharashtra?
Options:

| % House Sparrow

- o Green pigeon

- » Hill Myna

4 % Indian Roller

Question Number : 105 Question Id : 321011230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 2
Sub-Section 1d: 3210117
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 321011231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three of the alternatives follow a certain relation. Find the instrument which does not belong to the group?

Options:
1 % Guitar

> % Violin

5 o Conga

4 % Cello

Question Number : 106 Question Id : 321011231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 107 Question Id : 321011232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Prathik along with his three kids were watching cricket match on television. There was an advertisement for remote
controlled toy car. The phone number flashes on the screen briefly and they all try to remember the 10-digit phone
number. By the time Prathik grabs a pen and paper, each of them recollects a different number

1: All of them agree that the first three numbers are 989.

rJ

: Three kids agree that the fourth number is 6.

%]

: Three agree that the fifth sixth numbers are 28.
4: Three agree that the seventh eighth numbers are 38; all are agree that the last two digits of 10digt number is also 42.

Which of the numbers is most likely the telephone number of the advertisement?

Options:
| % 9892863842

5 « 9896283842
5 % 9892838426

4 % 9869382842

Question Number : 107 Question 1d : 321011232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i 39 S 9=41 & @Y Soiaed 9T fhehe #9 2@ @ O U fHAe-Tmate et s o
== 37 |7 o7l B =87 T o7 OiEr 27 & fore fRmar £ 3l F 39 10-37fT i 79 &7 O
FIA Fr FINA T T FT TF TUF U FAH AT FETH o T, d9 dF 3980 T TodF Th HoAd

JET TS FJ 2

1 - g geft mgEa € & uger A A7 989

2 :dF 9= 50 919 ¥ WeAT ¢ & Ttwr F97 6 §

3 O WEAT ¢ T umEr oer Auv 28 £

4 dF ATt & graar wear AsY 38 §; wEh mEAa € & 10 anhw mmw & afaw o e o
42

T 7 O 39 § 757 & T30 F SR 97 8 7 g99 s g9=Ear 87
Options:

. % 9892863842

> « 9896283842

- » 9892838426

, ® 9869382842



Question Number : 108 Question Id : 321011233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

During morning walk in a garden. Pointing to Rajesh Padma said “he is the brother of my uncle’s daughter”. Then how
is Rajesh related to Padma?

Options:
1 % Uncle

> « Cousin
= % Brother

4 % Grand father

Question Number : 108 Question Id : 321011233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
v T # geg #r W F e, =TT 3R AR A gT T4 A F, "gg AY I FT GE FT 95
g1" TS T F W mEieT 87

Options:
1 & ==T

2 v T &S
-« R
4 % GIETs

Question Number : 109 Question 1d : 321011234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figures carefully and identify the similar figure among the alternatives, which having analogues
relation to the given set of figures

o000
oz’




Ny
i o

¥
3 e

N
4 *® ®

Question Number : 109 Question Id : 321011234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
frafila efadl & coeEs seaad & AR REeT #§ & 37 789« JFa &7 g9 &, e
Tl & T 71T FT F WY FEIAT F I g

3 A N

o''0|0 0

2 ® o\&
3 ® e&/
C ] ®\‘

Question Number : 110 Question 1d : 321011235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Read the data given carefully and answer the question
The following Venn diagram shows information about number of officers who speak three different langunages in the
army camp at XYX

Punjabi Bengali

éh

Hindi

How many officers speak only two languages in the camp office.?

Options:
1 ® 32

> « 34
3_&% 36

4 % 38

Question Number : 110 Question Id : 321011235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& 7% ampfaal F eI B 98 AR 9T & 3eaw &

=T 39 3@ 37 ¥U=Rar & g & 9 # A9 Erar § S 8 F e Xy X # 89
AIT-HEITT HTOTT Srera 21

"

Hindi
e & %ﬁr HRF Fae g1 AT Sy 87
Options:



Question Number : 111 Question Id : 321011236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the transparent paper is folded at the dotted line what would be the result of the folding.

VA
%o

Options:

Question Number : 111 Question 1d : 321011236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el 9efele, aReelt Hrrer fEder @ W HET g 21 98 Rwew 94, S mad = e ¥ aar §
&F FET S Asa & a9 98 FOr BTEem

AV AN
DOO
Options:
X% |
©
], 0 E
XX |
o
> o 1




Question Number : 112 Question Id : 321011237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the next number in the series.

4, 12,36, 108, ?
Options:
i, * 325

5 & 314

4 % 344

Question Number : 112 Question Id : 321011237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&1 91 Ao F 3yeTelr gEaT #/4T @i

4, 12,:38, 1087
Options:

, % 325
. = 314
2 324

. ® 344

Question Number : 113 Question Id : 321011238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Seven children takes part in a caroms games contest. Each one has to play with every other one. How many games must
they play?



Options:
1. ® 28

Question Number : 113 Question Id : 321011238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T a=9 A FF ARG F 99 7 £ & TF F & g F WY YT g1 398 o Sl Fered
=fgu?

Options:

o 21

Question Number : 114 Question 1d : 321011239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the number pair from the given alternatives which holds the analogous relation as the given.

144 : 13
Options:

;% 169:12
] 324 : 17
= % 289:16
4 22516

Question Number : 114 Question 1d : 321011239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e arv et # @ 38 F&A IoA F1 AT S A T A0 & HgER weed "ed W@ gl

144 : 137
Options:

, ® 169 : 12
o % 324 117
2 % 289 : 16
4 < 225 : 16

Question Number : 115 Question Id : 321011240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If L stands for — . M stands for — N stands for =, P stands for =+,
then what would be the result of the following expression.

‘EN3L18PoM6E’ 7
Options:
1. = 16

o R 18

Question Number : 115 Question 1d : 321011240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I L, + F g Far g, M, - & FRg &tar 8, N, x & @%ha #ar g 3R P, + 1 fawha
FT &, O AT sg= = IRonE FaT gem?

8N3L18P6M6

Options:



4 ¢ 21

Sub-Section Number: 3
Sub-Section Id: 3210118
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 321011241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A number X is short of Y by 20%. Then what percent is Y in excess of X?

Options:
I . 20%0
5 % 50/3%

5 % 12.5%

4 o 25%

Question Number : 116 Question Id : 321011241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEEE X, Y ¥ 20% FH g, ar Y, X ¥ foraar gfaeg 39 &2
Options:

| % 20%

, % 50/3%

z % 12.5%

g W 25%

Question Number : 117 Question Id : 321011242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a?b? + : — 51, then the value of ab — — is:
aZh? ab

Options:

1 6

> o 7



Question Number : 117 Question 1d : 321011242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i 1
3T a’b? + 51, df ab—— &I AT g

aZh? ab

Options:

1 ® 5
> 7
3_%‘3 5

4 % 8

Question Number : 118 Question 1d : 321011243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ar FAEET TRy Y ST 9 1 16 & WU H g1 5 IS F SFHA! HT AT FAT gE?

Options:

1 % 256 : 81
> % 3: 4

z « 81 : 256
4 % 9 :16

Question Number : 118 Question Id : 321011243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sides of two similar triangles are in the ratio 9 : 16. Then the areas of these triangles are in the ratio.

Options:
{ ® 256:81

5 # BLE256



4 % 9:16

Question Number : 119 Question Id : 321011244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The area of a rectangular field is 144 m? . If the length had been 6 m more, and the area has also been 54 m? more, then
the original length of the field is:

Options:
i % 12m

>~ % 18m
= % 14m

4 « 16m

Question Number : 119 Question Id : 321011244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UF ISR B H &GS 144 m? § IS gwh Sag 6 Hex Hfw gl o ahe off 54 m?
g S, af ug & areatew s

Options:

Question Number : 120 Question Id : 321011245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two right circular cylinders of equal volumes have their heights in the ratio 1 : 2. Then the ratio of radii is:

Options:
1 ® b ks ;
oo s

4_5&124



Question Number : 120 Question 1d : 321011245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT AT arel & Fagecid fHoisd @ F=18 & Had 1 : 2 g1 ar 30 et &7 39T &

Options:

1«:-321

Question Number : 121 Question 1d : 321011246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The perimeters of two squares are 48 cm and 36 cm. Then the perimeter of a third square whose area is equal to the
difference of the areas of the two squares is given by:

Options:
{1 ® 1l6cm

o> % 24cm

o of 121,!’7 cim

4 ® 28cm

Question Number : 121 Question 1d : 321011246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I gr 91 & IIHET 48 cm 3T 36 cm §, aF TF G 9 FT oA"Y A9 fiew, TEer d5w g4t
eIt & STFAT F HA F ST g

Options:

; # 16 cm

- % 24 cm
s« 124/7em

4 % 28 cm



Question Number : 122 Question Id : 321011247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A right pyramid 10 cm high has a square base of which the diagonal is 10 cm. The whole surface area is:

Options:
1 & 220 cm?

> & 210 cm?
2 ® 205 cm?

4 « 200 cm?

Question Number : 122 Question Id : 321011247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

10 ¥ 5= vs @Eeviy Bufis & smr s=er g Swer Teer 10 @ 31 a0 T aawd
CAEI

Options:

1w 220 cm?
> % 210 cm?

= # 205 cm?

4 200 cm?

Question Number : 123 Question Id : 321011248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
£ (1+smn 6)1—smn &)
(1+cos8)(1—cos®)

If cot® =g . then the value o 1s equal to

Options:

20

10

25
3¢ 36



15
g4 = 18

Question Number : 123 Question Id : 321011248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

5 (1+5in 8)(1—sinf
3R cotf = 2, ar 2 X )
& (1+cosd)({1—cosd)

T AT &% TR ¢
Options:
20

10

25

15
4 ® 18

Question Number : 124 Question Id : 321011249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The angles of elevation of the top of a tower from two points at a distance 4 m and 16 m from the base of the tower and
in the same straight line with it are complementary. Then the height of the tower is:

Options:
1, *® 6m

o &m
= % 12m

4 ® Om

Question Number : 124 Question Id : 321011249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U T F HUR H 4 m AR 16 m & g 9T 58F @y Wl Wom # Fud o Bgnt § gfaw & 99 F
3eA0 HIUT Th AL & YT @l af T $ F419 g

Options:

1 % Bm
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Question Number : 125 Question Id : 321011250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Histogram can be used directly for:

Options:
, % secondary data

- « continuous data
3 % discrete data

, = primary data

Question Number : 125 Question Id : 321011250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T=rETH 1 39ger d9Y ¥ fore &Fam = @ B

Options:

| % SiSdraes ST
> v Fdd SET
3 ® HIAdd STaT

4 ® STUTHF sTer



